

$\begin{array}{ c c c } \hline -12r + 4 = 100 & -2 = 2 + \frac{v}{4} & \frac{k+2}{2} = 4 \\ \hline -5x + 13 = -17 & \frac{n-5}{3} = 5 & 4x + 6 = 3x + 17 \\ \hline -9x - 13 = -103 & 5x + 7x + 8 = 152 & 2x + 2 + x = 38 \\ \hline \end{array}$	$\begin{array}{ c c c } \hline 3x + 3 + 7x = 13 & 8n + 7 = 31 & 5x + 6 = -3 + 6x \\ \hline \frac{a-10}{3} = -4 & \frac{9+m}{3} = 2 & -9 + \frac{n}{4} = -7 \\ \hline 6 + 4x = 7x - 15 & 144 = -12(x+5) & 21 = 3x + 2x + 6 \\ \hline \end{array}$	$\begin{array}{ c c c } \hline -15 = -4m + 5 & \frac{b+11}{3} = -2 & \frac{p+8}{2} = 10 \\ \hline 5x + 10 + 3x = 74 & 8x - 2 = -9 + 7x & 4x + 5 = 33 \\ \hline \frac{x}{4} + 5 = -8 & -10 = -10 + 7m & 1 + 7x = 78 \\ \hline \end{array}$
$\begin{array}{ c c c } \hline -15 = -4m + 5 & \frac{1}{3}b + 11 = -2 & \frac{p+8}{2} = 14 - 4 \\ \hline 5x + 10 + 3x = 74 & 8x - 2 = -9 + 7x & 2x + 5 = 30 - 2x + 3 \\ \hline \frac{3}{5}p + 5 = -8 & -10 = -10 + 7m & 1 + 7x = 78 \\ \hline \end{array}$	$\begin{array}{ c c c } \hline x + 5 = 30 - 10 - 2x & \frac{n+5}{16} = 1 & \frac{5}{16}m - 9 = -11 + 3 \\ \hline 7r - 7 - 3r = 15 & \frac{k-10}{2} = -7 & -14r - 19 = 303 \\ \hline 2x + 1 + 3x = 2x + 19 & 8v + 10 - 14v = -104 & \frac{m-13}{2} = -8 \\ \hline \end{array}$	$\begin{array}{ c c c } \hline -8 = 3x - 4 - 4x & a + 5 = -5a + 5 & 5p - 14 = 4(2p + 1) \\ \hline 14 = 2(p - 4) & p - 1 = 5p + 3p - 8 & 12 = 4(6x + 3) \\ \hline -18 - 6k = 6(1 + 3k) & 7 - 4x = -9 & 5n + 34 = -2 + 7n \\ \hline \end{array}$
$\begin{array}{ c c c } \hline -9x + 1 = -80 & 3p - 2 = -29 & 7(9 + k) = 84 \\ \hline r - 1 = -5 & -20 = -4x - 6x & 3(3 + 2n) = 9 - 3n \\ \hline 6 + \frac{x}{2} = 4 & -243 = -9(10 + x) & \frac{r}{10} + 4 = 5 \\ \hline \end{array}$	$\begin{array}{ c c c } \hline \frac{p}{4} + 8 = 7 & 6 = 1 - 2n + 5 & \frac{n}{2} + 5 = 3 \\ \hline 8 + \frac{b}{4} = 5 & \frac{x+9}{2} = 3 & -6 = \frac{n}{2} - 10 \\ \hline -5 + \frac{n}{3} = 0 & -10 = 10(k - 9) & 4(n - 1) - 13 = 9 \\ \hline \end{array}$	$\begin{array}{ c c c } \hline 1 + 6(x + 1) = 55 & 3(x + 2) = 12 & 2(x + 4) = 40 - 2x \\ \hline 2(4 + x) + 4x = 26 & 3x + 7 + x = 35 & 6(1 + x) - x = 6 \\ \hline 3(x + 3) = 45 & 1 + 5x + 6x = 73 - x & 3x + 8 + 4x = 64 \\ \hline \end{array}$